NEW HAVEN PUBLIC SCHOOLS AMENDMENT TO AGREEMENT

GRANT # if applicable: AGREEMENT ATTACH COPY OF FULLY EXECUTED AGREEMENT GRANT NAME: State Afterschool, Extended School, and 21 st Century Grants DATE: March 17, 2021 FUNDING SOURCE FOR AGREEMENT: State Afterschool, Extended School, and 21 st Century Grants ACCT # FOR AGREEMENT: Extended School Hours Grant 2579-5326-56694-0013, 50 sessions x \$200 (Daniels-\$10,000) 21st CCLC Grant 2579-6243-56697-0013, 25 sessions x \$200 (Daniels-\$5,000) 21st CCLC Grant 2579-6273-56894-0013/carryover, 17 sessions x \$200 (Daniels-\$3,400) 21st CCLC Grant 2579-6273-56894-0009, 40 sessions x \$200 (Davis-\$8,000) State Afterschool Grant − 2579-6326-56694-0007, 40 sessions x \$200 (Davis-\$8,000) Extended School Hours Grant 2579-5326-56694-0000, 10 sessions x \$200 (Davis-\$8,000) AMOUNT OF AGREEMENT PRIOR TO THIS AMENDMENT: \$39,400.00 X ACTUAL OR	CONTRACTOR: ARTE	AMENDMENT #: 2
GRANT NAME: State Afterschool, Extended School, and 21st Century Grants FUNDING SOURCE FOR AGREEMENT: State Afterschool, Extended School, and 21st Century Grants ACCT # FOR AGREEMENT: Extended School Hours Grant 2579-5326-56694-0013, 50 sessions x \$200 (Daniels-\$10,000) 21st CCLC Grant 2579- 6243-56697-0013, 25 sessions x \$200 (Daniels-\$5,000) 21st CCLC Grant 2579- 6250-56694-0013/carryover, 17 sessions x \$200 (Daniels-\$3,400) 21st CCLC Grant 2579- 6273-56694-0009, 40 sessions x \$200 (Daniels-\$3,400) 21st CCLC Grant 2579- 6273-56694-0009, 40 sessions x \$200 (Daniels-\$3,400) State Afterschool Grant — 2579-6205-56697-0007, 40 sessions x \$200.00 (Hill Central \$8,000.00) Extended School Hours Grant 2579-5326-56694-0000, 16 sessions x \$312.50 (Central Office-\$5,000) ORIGINAL AMOUNT OF AGREEMENT: \$39,400.00 XACTUAL OR	GRANT # if applicable:	AGREEMENT #: 96273615
### FUNDING SOURCE FOR AGREEMENT: State Afterschool, Extended School, and 21st Century Grants #### AGCT # FOR AGREEMENT: Extended School Hours Grant 2579-5326-56694- 0013, 50 sessions x \$200 (Daniels-\$10,000) 21st CCLC Grant 2579- 6243-56693-0013, 25 sessions x \$200 (Daniels-\$5,000) 21st CCLC Grant 2579- 6243-56694-0009, 40 sessions x \$200 (Daniels-\$3,400) 21st CCLC Grant 2579- 6273-56694-0009, 40 sessions x \$200 (Daniels-\$3,400) 21st CCLC Grant 2579- 6273-56694-0009, 40 sessions x \$200 (Daniels-\$3,400) 31st Afterschool Grant - 2579-6326-56694-0000, 16 sessions x \$312.50 (Central Office-\$5,000) State Afterschool Hours Grant 2579-5326-56694-0000, 16 sessions x \$312.50 (Central Office-\$5,000) ORIGINAL AMOUNT OF AGREEMENT: \$39,400.00 X ACTUAL OR	ATTACH COPY OF FULLY EXECUTED AGREEMENT	
ACCT # FOR AGREEMENT: Extended School Hours Grant 2579-5326-56694-0013, 50 sessions x \$200 (Daniels-\$10,000) 21st CCLC Grant 2579- 6243-56697-0013, 25 sessions x \$200 (Daniels-\$5,000) 21st CCLC Grant 2579- 6243-56694-0013/carryover, 17 sessions x \$200 (Daniels-\$3,400) 21st CCLC Grant 2579- 6273-56694-0009, 40 sessions x \$200 (Davis-\$8,000) State Afterschool Grant - 2579-6205-56697-0007, 40 sessions x \$200.00 (Hill Central \$8,000.00) Extended School Hours Grant 2579-5326-56694-0000, 16 sessions x \$312.50 (Central Office-\$5,000) ORIGINAL AMOUNT OF AGREEMENT: \$39,400.00 **ACTUAL** ORESTIMATE AMOUNT OF THIS AMENDMENT: \$5,600.00 **X INCREASE ORDECREASE** AMOUNT OF AGREEMENT INCLUDING THIS AMENDMENT: \$45,000.00 **FUNDING SOURCE & ACCT # FOR AMENDMENT:** Extended School Hours Grant 2579-5326-56694-0013, 50 sessions x \$200 (Daniels-\$10,000) 21st CCLC Grant 2579- 6243-56697-0013, 25 sessions x \$200 (Daniels-\$9,000) 21st CCLC Grant 2579- 6243-56694-0013/carryover, 45 sessions x \$200 (Daniels-\$9,000) 21st CCLC Grant 2579- 6273-56694-0009, 40 sessions x \$200 (Daniels-\$9,000) 21st CCLC Grant 2579-6273-56694-0009, 40 sessions x \$200 (Davis-\$8,000) State Afterschool Grant - 2579-6205-566694-0007, 40 sessions x \$200 (Outliel Central \$8,000) Extended School Hours Grant 2579-5326-56694-0000, 16 sessions x \$312.50 (Central Office-\$5,000) DESCRIPTION AND NEED FOR AMENDMENT: ARTE will increase from 188 sessions adding 28 sessions at J. Daniels School to 216 sessions total and to increase ARTE funding from \$39,400 by \$5,600 (2579-6250-56699-0013) to \$45,000 ALL OF THE TERMS AND CONDITIONS OF ORIGINAL AGREEMENT REMAIN IN FULL FORCE AND EFFECT CONTRACTOR'S SIGNATURE: March 17, 2021 (Date) Executive Director (Title) Executive Director (Date) Executive Direc	GRANT NAME: State Afterschool, Extended School,	and 21st Century Grants DATE: March 17, 2021
Extended School Hours Grant 2579-5326-56694- 0013, 50 sessions x \$200 (Daniels-\$10,000) 21st CCLC Grant 2579- 6250-56697-0013, 25 sessions x \$200 (Daniels-\$5,000) 21st CCLC Grant 2579- 6250-56694-0013/carryover, 17 sessions x \$200 (Daniels-\$3,400) 21st CCLC Grant 2579- 6273-56694-0009, 40 sessions x \$200 (Davis-\$8,000) State Afterschool Grant - 2579-6205-56697-0007, 40 sessions x \$200.00 (Hill Central \$8,000.00) Extended School Hours Grant 2579-5326-56694-0000, 16 sessions x \$312.50 (Central Office-\$5,000) ORIGINAL AMOUNT OF AGREEMENT: \$39,400.00 AMOUNT OF AGREEMENT PRIOR TO THIS AMENDMENT: \$39,400.00 X ACTUAL OR	FUNDING SOURCE FOR AGREEMENT: State Afterso	chool, Extended School, and 21st Century Grants
AMOUNT OF THIS AMENDMENT: \$5,600.00 X INCREASE OR	Extended School Hours Grant 2579-5326-56694- 00 21st CCLC Grant 2579- 6243-56697-0013, 25 sessi 21st CCLC Grant 2579- 6250-56694-0013/carryove 21st CCLC Grant 2579- 6273-56694-0009, 40 sessi State Afterschool Grant – 2579-6205-56697-0007, 4 Extended School Hours Grant 2579-5326-56694- 00	ons x \$200 (Daniels-\$5,000) r, 17 sessions x \$200 (Daniels-\$3,400) ons x \$200 (Davis-\$8,000) 40 sessions x \$200.00 (Hill Central \$8,000.00)
AMOUNT OF THIS AMENDMENT: \$5,600.00 \[\textstyle{X} \text{ INCREASE} \text{ OR} \text{DECREASE} \] AMOUNT OF AGREEMENT INCLUDING THIS AMENDMENT: \$45,000.00 FUNDING SOURCE & ACCT # FOR AMENDMENT: Extended School Hours Grant 2579-5326-56694- 0013, 50 sessions x \$200 (Daniels-\$10,000) 21st CCLC Grant 2579- 6243-56697-0013, 25 sessions x \$200 (Daniels-\$5,000) 21st CCLC Grant 2579- 6250-56694-0013/carryover, 45 sessions x \$200 (Daniels-\$9,000) 21st CCLC Grant 2579- 6273-56694-0009, 40 sessions x \$200 (Davis-\$8,000) State Afterschool Grant - 2579-6205-56694-0007, 40 sessions x \$200 (O (Hill Central \$8,000) Extended School Hours Grant 2579-5326-56694-0000, 16 sessions x \$312.50 (Central Office-\$5,000) \[\text{DESCRIPTION AND NEED FOR AMENDMENT: ARTE will increase from 188 sessions adding 28 sessions at J. \text{Daniels School to 216 sessions total and to increase ARTE funding from \$39,400 by \$5,600 (2579-6250-56694-0013) to \$45,000 \] ALL OF THE TERMS AND CONDITIONS OF ORIGINAL AGREEMENT REMAIN IN FULL FORCE AND EFFECT (Name) \[\text{March 17, 2021} \] (Date)	AMOUNT OF AGREEMENT PRIOR TO THIS AMENDM	ENT: \$39,400.00
X INCREASE OR		X ACTUAL ORESTIMATE
AMOUNT OF AGREEMENT INCLUDING THIS AMENDMENT: \$45,000.00 FUNDING SOURCE & ACCT # FOR AMENDMENT: Extended School Hours Grant 2579-5326-56694- 0013, 50 sessions x \$200 (Daniels-\$10,000) 21st CCLC Grant 2579- 6243-56697-0013, 25 sessions x \$200 (Daniels-\$5,000) 21st CCLC Grant 2579- 6250-56694-0013/carryover, 45 sessions x \$200 (Daniels-\$9,000) 21st CCLC Grant 2579- 6273-56694-0009, 40 sessions x \$200 (Davis-\$8,000) State Afterschool Grant — 2579-6205-56697-0007, 40 sessions x \$200.00 (Hill Central \$8,000) Extended School Hours Grant 2579-5326-56694- 0000, 16 sessions x \$312.50 (Central Office-\$5,000) DESCRIPTION AND NEED FOR AMENDMENT: ARTE will increase from 188 sessions adding 28 sessions at J. Daniels School to 216 sessions total and to increase ARTE funding from \$39,400 by \$5,600 (2579-6250-56694-0013) to \$45,000 ALL OF THE TERMS AND CONDITIONS OF ORIGINAL AGREEMENT REMAIN IN FULL FORCE AND EFFECT CONTRACTOR'S SIGNATURE: March 17, 2021 (Date)	AMOUNT OF THIS AMENDMENT: \$5,600.00	
FUNDING SOURCE & ACCT # FOR AMENDMENT: Extended School Hours Grant 2579-5326-56694- 0013, 50 sessions x \$200 (Daniels-\$10,000) 21st CCLC Grant 2579- 6243-56697-0013, 25 sessions x \$200 (Daniels-\$5,000) 21st CCLC Grant 2579- 6250-56694-0013/carryover, 45 sessions x \$200 (Daniels-\$9,000) 21st CCLC Grant 2579- 6273-56694-0009, 40 sessions x \$200 (Davis-\$8,000) State Afterschool Grant — 2579-6205-56697-0007, 40 sessions x \$200.00 (Hill Central \$8,000) Extended School Hours Grant 2579-5326-56694- 0000, 16 sessions x \$312.50 (Central Office-\$5,000) DESCRIPTION AND NEED FOR AMENDMENT: ARTE will increase from 188 sessions adding 28 sessions at J. Daniels School to 216 sessions total and to increase ARTE funding from \$39,400 by \$5,600 (2579-6250-56694013) to \$45,000 ALL OF THE TERMS AND CONDITIONS OF ORIGINAL AGREEMENT REMAIN IN FULL FORCE AND EFFECT (Name) (Name) (Date) Executive Director (Title)		X INCREASE ORDECREASE
Extended School Hours Grant 2579-5326-56694- 0013, 50 sessions x \$200 (Daniels-\$10,000) 21st CCLC Grant 2579- 6243-56697-0013, 25 sessions x \$200 (Daniels-\$5,000) 21st CCLC Grant 2579- 6250-56694-0013/carryover, 45 sessions x \$200 (Daniels-\$9,000) 21st CCLC Grant 2579- 6273-56694-0009, 40 sessions x \$200 (Davis-\$8,000) State Afterschool Grant — 2579-6205-56697-0007, 40 sessions x \$200.00 (Hill Central \$8,000) Extended School Hours Grant 2579-5326-56694-0000, 16 sessions x \$312.50 (Central Office-\$5,000) DESCRIPTION AND NEED FOR AMENDMENT:. ARTE will increase from 188 sessions adding 28 sessions at J. Daniels School to 216 sessions total and to increase ARTE funding from \$39,400 by \$5,600 (2579-6250-56694013) to \$45,000 ALL OF THE TERMS AND CONDITIONS OF ORIGINAL AGREEMENT REMAIN IN FULL FORCE AND EFFECT (Name) (Name) (Date)	AMOUNT OF AGREEMENT INCLUDING THIS AMENDI	MENT: \$45,000.00
CONTRACTOR'S SIGNATURE: (Name) (Date) Executive Director (Title)	Extended School Hours Grant 2579-5326-56694- 00 21st CCLC Grant 2579- 6243-56697-0013, 25 sessi 21st CCLC Grant 2579- 6250-56694-0013/carryove 21st CCLC Grant 2579- 6273-56694-0009, 40 sessi State Afterschool Grant — 2579-6205-56697-0007, 4 Extended School Hours Grant 2579-5326-56694- 00 DESCRIPTION AND NEED FOR AMENDMENT:. ARTE Daniels School to 216 sessions total and to increase	ons x \$200 (Daniels-\$5,000) r, 45 sessions x \$200 (Daniels-\$9,000) ons x \$200 (Davis-\$8,000) 40 sessions x \$200.00 (Hill Central \$8,000) 000, 16 sessions x \$312.50 (Central Office-\$5,000) will increase from 188 sessions adding 28 sessions at J.
(Name) (Date) <u>Executive Director</u> (Title)	ALL OF THE TERMS AND CONDITIONS OF ORIGINAL	AGREEMENT REMAIN IN FULL FORCE AND EFFECT
	(Name) <u>Executive Direction</u> (Title)	(Date)
President (Date)	President	(Date)

NEW HAVEN PUBLIC SCHOOLS AMENDMENT TO AGREEMENT

CONTRACTOR: ARTE	AMENDMENT #: 1	
GRANT # if applicable:	AGREEMENT #: 96273615	
ATTACH COPY OF FULLY EXECUTED AGREEMENT		
GRANT NAME: State Afterschool, Extended School, and 21st Century Grants DATE: February 11, 2021		
FUNDING SOURCE FOR AGREEMENT: State Afterso	hool, Extended School, and 21st Century Grants	
ACCT # FOR AGREEMENT: Extended School Hours Grant 2579-5326-56694- 0013, 50 sessions x \$200 (Daniels-\$10,000) 21st CCLC Grant 2579- 6243-56697-0013, 25 sessions x \$200 (Daniels-\$5,000) 21st CCLC Grant 2579- 6250-56694-0013/carryover, 17 sessions x \$200 (Daniels-\$3,400) 21st CCLC Grant 2579- 6273-56694-0009, 40 sessions x \$200 (Davis-\$8,000) State Afterschool Grant - 2579-6205-56697-0007, 40 sessions x \$200.00 (Hill Central \$8,000.00)		
ORIGINAL AMOUNT OF AGREEMENT: \$34,400.00		
AMOUNT OF AGREEMENT PRIOR TO THIS AMENDME	ENT: \$34,400.00	
2	ACTUAL ORESTIMATE	
AMOUNT OF THIS AMENDMENT: \$5,000,00		
	X INCREASE ORDECREASE	
AMOUNT OF AGREEMENT INCLUDING THIS AMENDA	IENT: \$39,400.00	
FUNDING SOURCE & ACCT # FOR AMENDMENT: Extended School Hours Grant 2579-5326-56694-0013, 50 sessions x \$200 (Daniels-\$10,000) 21st CCLC Grant 2579- 6243-56697-0013, 25 sessions x \$200 (Daniels-\$5,000) 21st CCLC Grant 2579- 6250-56694-0013/carryover, 17 sessions x \$200 (Daniels-\$3,400) 21st CCLC Grant 2579- 6273-56694-0009, 40 sessions x \$200 (Davis-\$8,000) State Afterschool Grant — 2579-6205-56697-0007, 40 sessions x \$200.00 (Hill Central \$8,000.00) Extended School Hours Grant 2579-5326-56694-0000, 18 sessions x \$312.50 (Central Office-\$5,000)		
DESCRIPTION AND NEED FOR AMENDMENT: To increase ARTE funding from \$34,400 by \$5,000 (2579-5326-56694-0000) to \$39,400. The funds will provide art supplies and instruments for 65 New Haven Public School student's throughout the district to attend the ARTE Saturday Academy program which is currently offered virtually and is free for the participants.		
ALL OF THE TERMS AND CONDITIONS OF ORIGINAL	AGREEMENT REMAIN IN FULL FORCE AND EFFECT	
CONTRACTOR'S SIGNATURE: (Name) Executive Director (Title)	February 11, 2021 (Date)	
NEW HAVEN BOARD OF EDUCATION: (Title)		
Ysma Kuesa President	11 March 2021 (Date)	

NEW HAVEN PUBLIC SCHOOLS AGREEMENT COVER SHEET

Cover Sheet is an Internal Document for Business Office Use

Please Type

Contractor full name: ARTE Inc.

Doing Business As, if applicable: N/A

Business Address: 26 Atwater Street, New Haven CT, 06513

Business Phone: 203-469-4536

Business email: arteinc@comcast.net

SS# OR Tax ID #:

Funding Source & Acct. #

Extended School Hours Grant 2579-5326-56694-0013, 50 sessions x \$200 (Daniels-\$10,000)-21st CCLC Grant 2579-6243-56697-0013, 25 sessions x \$200 (Daniels-\$5,000)
21st CCLC Grant 2579-6250-56694-0013/carryover, 17 sessions x \$200 (Daniels-\$3.400)
21st CCLC Grant 2579-6273-56694-0009, 40 sessions x \$200 (Davis-\$8,000)
State Afterschool Grant - 2579-6205-56697-0007, 40 sessions x \$200.00
\$8,000.00) Hill Central

Principal or Supervisor: Gemma J- Lumpkin

Agreement Effective Dates: From 12/15/2020 To 6/30/2021

per session rate: \$200.00 per 2 hour session

Total amount: 172 sessions; 2 hours each x \$200.00 per session = \$34,400.00

Description of Service: Please provide a <u>one or two sentence description</u> of the service. Please do not write, "see attached."

ARTE will provide 50 J. Daniels, 50 Davis and 50 Hill Central students with remote, hybrid, or on-site programming for the 21st Century Afterschool Program. Activities will include Arts & Crafts, dance and community projects.

Submitted by Gemma Joseph Lumpkin Phone: (475) 220-1060



AGREEMENT By And Between The New Haven Board of Education AND ARTE Inc.

FOR DEPARTMENT/PROGRAM: Youth, Family, and Community Engagement

This Agreement entered into on the 14 day of December 2020, effective (no sooner than the day after Board of Education Approval), the 15th day of December 2020, by and between the New Haven Board of Education (herein referred to as the "Board" and, ARTE Inc.located at, 26 Atwater Street. New Haven CT, 06513 (herein referred to as the "Contractor").

Compensation: The Board shall pay the contractor for satisfactory performance of services required the amount of \$200.00 per 2 hour sessions, for a total of 172 sessions; (\$34,400.00)

The maximum amount the contractor shall be paid under this agreement: thirty four thousand - four hundred dollars and no cents (\$34,400.00). Compensation will be made upon submission of an itemized invoice which includes a detailed description of work performed and date(s) of service.

Fiscal support for this Agreement shall be by Extended School Hours, State Afterschool and 21st CCLC Grants Programs of the New Haven Board of Education,

Extended School Hours Grant 2579-5326-56694-0013, 50 sessions x \$200 (Daniels-\$10,000)

21st CCLC Grant 2579- 6243-56697-0013, 25 sessions x \$200 (Daniels-\$5,000)

21st CCLC Grant 2579- 6250-56694-0013/carryover, 17 sessions x \$200 (Daniels-\$3,400)

21st CCLC Grant 2579- 6273-56694-0009, 40 sessions x \$200 (Davis-\$8,000)

State Afterschool Grant - 2579-6205-56697-0007, 40 sessions x \$200.00

\$8,000.00) Hill Central

This agreement shall remain in effect from December 15, 2020 to June 30, 2021.

SCOPE OF SERVICE: Please provide brief summary of service to be provided. The ARTE program will provide 172 sessions, 2 hours each, at Hill Central, J. Davis and J. Daniels Schools. Activities will include Arts & Crafts projects, Dance, Sports and Physical Fitness.

Language Arts, and Thinking Games. which will engage the students in a variety of workshops. The workshops include Arts & Crafts projects, Dance, Sports and Physical Fitness, Language Arts, and Thinking Games.

Exhibit A: Scope of Service: Please attach contractor's detailed Scope of Service on contractor letterhead with all costs for services including travel and supplies, if applicable

Exhibit B: Student Data and Privacy Agreement: Attached

APPROVAL: This Agreement must be approved by the New Haven Board of Education prior to service start date. Contactors may begin service no sooner than the day after Board of Education approval.

HOLD HARMLESS: The Contractor shall insure and/or indemnify the Board and its members, employees and agents against all claims, suits, and expenses, including reasonable attorney's fees, in connection with loss of life, bodily injury or property damage arising from any neglect act or omission of the Contractor or its employees or agents. Further, the Contractor covenants and agrees that it shall hold the Board and its members, employees and agents harmless against any and all claims, suits judgments of any description whatsoever caused by the Contractor' breach of this agreement or based upon the conduct of the Contractor, or its agents or its employees or arising out of in connection with their activities under this agreement.

TERMINATION: The Board may cancel this agreement for any reason upon thirty (30) days' written notice sent to the Contractor by certified U.S. mail, return receipt requested; provided however, that the Board shall be responsible to the Contractor for all services rendered by the Contractor through the last day of thirty (30) day notice period, as long as the Agreement was approved by the Board prior to the start date of service.

A St Name	428mia Ruesa
Contractor Signature	resident New Haven Board of Education
11/19/2020	December 15, 2020
Date	Date

Revised: 11/27/19

David S Greco

Contractor Printed Name & Title